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1. oRd ARSIl adsi leiBis lld dul. 14
Examine the present industrial policy of Indian Government.
AYW/OR

MRl AE AUl You AL agldl. 2L AHRUAAL G3e dls virallswl
AL ? 2L HLe ?

Describe the main problems of public enterprises of India. Would you suggest
privatisation for solving these problems ? Why ?

2. GURAHL AU L AHARUOL e341 aPs Qs aelal. 14
Describe the industrial development in India during the planning period.
AYW/OR

GURAHL ALl WALl Galldlld Hetd AMeAdl. dall AHuAL weudl, del G3e Hie
A 512 dldal uaral uul.

Explain the importance of small scale industries in India. What problems do they face ?
Discuss the steps taken by the Government to solve them.

3. ABUS AHALAL el 2], HIRAAL AeHHL d, 2lsidts Yeuisd 2. 14
What do you mean by social security ? Critically evaluate with reference to India.
AHUW/OR
“BeBls [Qate” 90 [ddd Y dvil.
Write a detailed note on ‘Industrial disputes”.

4. HIRAHL 1R HIvl, Mo AHAdl. 14
Explain the structure of trade unions in India.
AYW/OR
AL HYRHUAL s13202L u+la s
Evaluate the functioning of trade union in India.
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5. ARl [Aseu we 53U -
Choose the correct option :

1)

()

3)

(4)

(®)
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1991 ol sei 2ULLs YHURIAML 531 YHIRL vl o ?

(@) vitellsel (b) GellswL

(c) ABasls:al (d) uels:wL

Which reform is incorrect among the economic reforms since 1991 ?

(@) Privatisation (b) Liberalisation

(c) Globalisation (d) Urbanisation

APasls2eldl enedul sul sl gl 3sd 852 Hie Al 2udl [l ?
(@) [asluia sa (b) AruaLel 2ol

(©) [aswuslla s (d) yRAu-L el

With reference to globalization which countries do not allow the free movement of
labour ?

(@) Developed countries (b) Communist countries
(c) Developing countries (d) European countries
RS AT, S[mus2el w14 Sl 2123 d Sl sUl s1uel Sdl ?
(@ BIFR (b) PIT
(c) MIIP (d) MRTP
Act is related to control concentration of economic power and monopoly.
(@ BIFR (b) PIT
(c) MIIP (d) MRTP

HioL 28Rl uglt €.
(8) 925 dHY w2GiY oo
(b) auzlall Alxargild, e
(c) wwelulRag
(d) 9l
is an activity related only to public sector.
(@) Retail and wholesale market
(b) Production of consumer goods
(c) Transportation services
(d) Nuclear power

lellls [Qae @Rl HEWRAR SAUML ALl
(@) 1927 (b) 1930
(c) 1947 (d) 1951
The Industrial Dispute Act was passed in
(a) 1927 (b) 1930
(c) 1947 (d) 1951
2
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(6)

(")

(8)

)

(10)
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MR viillsRelAl drRFel sl wid 93U
(@) Ars-l 2UBls gaotelFlMl uiRl.

(b) ARSI HSHL quIRl.

(€) GauleAuld-l ysl Gulal

(d) Guniel isuel el

In India privatization is favoured because it leads to
(@) increase in economic responsibility of Government
(b) increase in Government capital

(c) full utilization of productive capacity

(d) None of the above

lEO1528L S sy ?

(@) 2ulls [asiu-dl uBad ulas

(b) YAl Wl qa1z Gl 2 [aqd saudl [Bu
(€) AU Baulet i ALY UASHL QHIR]

(d) GBUAL o4l %

What is Industrialization ?

(@ The symbol of economic development

(b) The process of expanding and deepening the base of capital

(c) Increase in national production and national income

(d) All of the above

wRRRHL daadly Al et w21 lells [as e
dgdis A Sl

@ 7.29% (b) 4.29%

(c) 9.17% (d) 10.11%

SGETIE]

In 11" Five Year Plan the target for achieving industrial development rate was

(a) 7.29% (b) 4.29%

(c) 9.17% (d) 10.11%

MRAHL vieL s1uel ol HeAUL 9.

(@) 1964 (b) 1952

(c) 1955 (d) 1960

The Mine Act has become applicable since in India.
(a) 1964 (b) 1952

(c) 1955 (d) 1960

aRAHl Adl 2lenBls Qiui 2 sl udl.
(@) 1948 (b) 1956

(c) 1991 (d) 1950

The new Industrial Policy in India was declared in

(a) 1948 (b) 1956

(c) 1991 (d) 1950
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(11) DAAmiell 54 HygR¥sn 9 2
(@) 23 y[Hut yau-e
(b) Sl A yad-e
(€) Sl Aurd 23 yYHu- sl
(d)  Gu-umidl isuel Al
Which among the following is a trade union ?
(@) Trade Union Movement
(b) Indian National Movement
(c) Indian National Trade Union Congress
(d) None of the above

(12) ol Al ABdil © 3 % W Jld ol el GH-AL Sl
@ 16 (b) 17
(c) 15 (d) 14
Generally child labour means a person whose age is less than
(@ 16 (b) 17
(c) 15 (d) 14
(13) il WLl Getloll Hie 2AstelL Hulel T ¢9.
(@ 1s5Ws (b) 2 52Us
(€) 35U (d) 45218
The investment limit is ¥ for small scale industries.
(@ 1crore (b) 2 crores
(c) 3crores (d) 4 crores

(14) s92ell »ied 1A suldd siduel sRRIRAR siHelR -lslnidl 92l sald uag
(a) Ql9s gl
(b) [2deiol oted [Aal d?ly eirdsl & Als?lHiel 9l sl
(c) au Huleld sRel Mg
(d) aiofl Add Hiedlld sl ALsT 9isdl
Retrenchment means
(@) Voluntary retirement
(b) Penalty for indiscipline / breaking code of conduct
(c) Retirement due to age limit
(d) Cease to work due to long sickness
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